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Consider the following pairs :

1. Rani Durgawati : Gondwana
2. Chand Bibj ; Ahmadnagar
I.?:I. Zuhra : Muhammad Shah
ow many of the gbﬂve pairs are correctly matched? :
(A) Only one pair (B) Only two pairs
(D) None of the pairs

(C) Al three pairs
(E)  Question not attempted

PFrerforftas 371 w3 fyare 2

1 T gl : TEET

3. WG 2 EST §1E

SR I A | e gy vl g & 7 _

(A) ¥ TH T (B) e 3t g

(C) =t it gy (D) =™ & g ot g T

(E) omoiawss

Consider the following pairs :

1. Amir-i-Dad : Law officer who carried out the decisions of the judges
2. Turkan-i-Chahalgani ; A group of forty
3. Barid-i-mamalik :  Head of the information and intelligence department
How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs

' (D) None of the pairs

(C) All three pairs
(E) Question not attempted
frrefaiaa gt wx fame Hift:
2 fafues siftrepriy it srif % Fvtg @1 Fremfaa Htar arl

1. ofR-T-sI=
2. gi@T-u-geeEl : A FEIE .
3.  aE-u-amhe ;e et geet A vge
Sy gt @ Pea g wd g €7
(A) ¥ TH T | | AW g
(C) @il g D) T & i ofF g
(E) agoiays
Consider the following pairs :
1. SurDas :  SurSagar
2.  Shankardeva ; Kirtan Ghosh
. Abhangas

Lt L i above pat tl tched?
How many of the above pairs are correctly ma :
(A) Dn]_fnne pair (B) Only two pairs
(C) All three pairs ' (D) None of the_ pairs
(E) -Question not attempted

frfafaa gl ot fermmt ST
: W 3 Em
é. SRt Do A

3. @a garH I
Ww&ﬁ%ﬁﬁwﬂﬁﬁﬂw%f (B) %ad & g
(D) T & B o g e
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4 Consider the following pairs:
1. Establishment of standards of weight and measures : Union List

2. Adoption and succession : State List

3. Betting and gambling : Concurrent List

How many of thésfollowing pairs are correct?

(A) Only one pair (B) Only two pairs
(C) Al three 44 (D) None of the pairs
(E) Question fiol attempted

Prffem gt #ifrg

L. R ol v & s o e : dogdh

2. TR v i weofe T

ot g A @ Rt g el 7

A) FwwE (B) %am g

(C) H‘lﬁiﬁﬂ’f% (D) T & = & gy i

(E) wrgaia vey

88S6EP

88S6EW

5 Consider the following statements :
L Residuarj%;bjems are the subjects that are not included in the th.r%sts of the 7% schedule

of the Cohsfitution.

2.4 Amrdm& Article 248, both the union Parliament and state legisl%s can make laws on
these subjéats.

3. Space tmi%olngy is an example of a residuary subject. @

How many of the statements given above are correct?

(A) Only one statement is correct. (B) Only two statemen%e correct.
(C) All three étemems are correct. (D) None of the statemw i$ correct.
(E) Question@st attempted e
Ferforiiere et @ feramt ifvTg : L
1. orafire frdarias frea &, o whrem 2 747 oreed @ @ qRt § whhide €
2. orgede 248% orgaTt Wi s ol U Rrenrd R o (srairee) R e g e ¥
3. ﬂaﬁﬂﬂéﬁmﬁ.WWWqﬁwh
few o Sied wUAl H & foqa sy wEI €7 -~
(A) ﬂﬁﬁ%ﬂ??:ﬂﬁ%l (B) %aw & wuw wé € W
(C) nﬁrﬁﬁfa@jqﬁﬁl (D) = ¥ Hu wh T By
(B) e vy oA
' U - PTO
31 @en D vty 3 80 1.
: L
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Consider the following statements :

L Pr.i“y purse referred to a specific sum of money that was payabl
princely states that signed the Instrument of Accession.

;' 1he payment of privy purse was a constitutional obligation before 42"

: nﬁ.ﬂb{flmfm of Privy Purse was justified on the ground that it stood against the principle of
egalitarianism enshrined in the Constitution. :

How many of the statements given above are correct?

e annually to rulers of former

d Amendment.

Eg) 21111}' one statement is correct. (B) Only two statements are correct.
) 1 thfee statements are correct. (D) None of the statements is correct.
(E) Question not attempted

Fr=fefaa et 9 e Hif ;

1. Bt e ww fefbre ofr ) ofwfag sran d s ot Pravadl & yma! @) i w9 @& ¥ gar ar i
. mﬁﬁﬁﬂmwmmm ™

2. 423 wifte s & el Rl e o syrer e e A

3. R o o weiia s e ax ofta o e ae wfver ¥ R @ & Riaia & Ros anl

T o Sudie ol @ oo s g ¥ e

(A) %aw UE wUA g6 T (B) e 31 B4 e El

(C) =it & =aw w1 &) (D) Y o o whr e EL Y
(B) srgafa ueT

. Consider the following statements 7

1.  Parliament can legislate on matters enum
pass resolutions requesting the Parliament to enact such laws.

2. A law so enacted will be equally applicable to all the states,
passed such a resolution or not.

3.  Such alaw can be amended or rcpealed

How many of the statements given above are correct?

(A) Only one statement is correct. (B) Only two statements are correct.

(C) All three statements are cui'ré::t. (D) None of the statements is correct.

(E) Question not attempted

erated in-tha State List if two or more state legislatures

irrespective of whether they

only by the Parliament.

Preffaa st 93 frary Sif :
1. WW@ﬁmﬁﬁ-gﬂﬂwwuﬁi.uﬁﬁmMWﬁmﬁﬂiwwaﬁ
. aﬁ:ﬁuﬁaaﬁ%gmﬁmaﬂvmmmmﬂﬂmﬁt
ot i fean & @ 7@ |

: ¢ 9 w9 @ A aN, =T S 56 W
3. mm#waﬁﬁmﬁﬂmmmﬁ&mmﬁ?ﬁmﬁmmmil
ﬁqﬂqrmﬂaﬁmﬂ‘fﬂ‘éﬁmﬁmaﬂaﬁ%?

(B) e o wue i e |

(A) Faw UF FHYT Gl ¢ 1
(C) gt A e gE 2 (D) FE o Hu wh T 2

(B) orgaft 9
PT.O.
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8  Consider the following statements :
1. The selection of the Vijayanagara site was inspired by the existence of the Virupaksha temple.
2. Vijayanagara was established near the Pampadevi temple.
3.

*Shri Pampay Namaly’ inscription has been found on the Vij
How many of the Statements given above are correct?
(A) Only one statement is correct.

(C) Al three statements are correct.
(E)  Question not attempted

ﬁq&mm“hm%q:

1. mmmwmmkm%mm
2. wﬁﬁﬂﬁ?%mmﬂm’rmwmi
3. e % R av o e e st P &

aynagara coins.

(B) Only two statements are correct.
(D) None of the statements is correct.

R T s w3 @ R s wh ¥ 7
(A) ¥3w s Faw wh ¥ (B) aw & s wht ¥
(C) =i 9 suw v ¥) (D) =% 0 o= wé =8 &y
(E) suiaws
9  Consider the following pairs
1. Pratihar King Bhoj : Gwalior Inscription
2.  Satavahana King Pulumavi : Nasik Inscription
3. Hun King Toraman : Eran Varaha Inscription
How many of the above pairs are correctly matched?
(A) Only one pair . (B) Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted
=it gt ot feam ifer:
1. iR e 5= . : T arferE
2. GrEred T ggEEr ;i ifherE
3. 91U A : T A At
i g # A e g wd gifva 7
(A) @ew TH g (B) Haw @t gm
(C) w At g (D) ¥ & & ff gt i
(E) i wed

PT.O.
31 oy D 3
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10 Consider the following pairs :

1. Nuh Sipihr Amir Khusrau
2. Riyazul Insha Mahmud Gawan
3. Burhan-i-Ma’asir Rafiuddin Shirazi
How many nf‘&é above pairs are correctly matched? 5
(A) Onlyo i (B) Only two pairs ¢¢y
(C) Al threg pairs (D) None of the paird J§
(E)  Questioffiot attempted o
Frerfiriee 7R frame e - @
1. 9 fafe : andt gau
2. frwm K D HEEE Tt s
3. FEE-GEMR ¢ oede Rt (FY)
mwﬂmﬂwaﬁg&m% ? o o
(4) Fwus iy (B) Faw @ g g
© whdeigw @) 373 2 gy
(E) orgaita yea A\
11 Consider the Aowing pairs : = | £
1. Bhacaw B oAbt W
2. MirSaipdAli :  Humayun - g
3.  Daswanf)h : Jahangir 00
How many of @k above pairs are correctly matched? 0o

(A) Only one pair
(C) All three pairs

(B) Only two pairs
(D) None of the pai
Pﬂll;g1

(E) Questi ntattemptcd' fed
1. mEE U P U
2. dremPed T o
3. =mda L ;o R o
St gl A & ot gy g 7

(A) b v g B) FwATT
© =t dritgm (D) 3 & =i o grol ekt
(E) aa,ﬁﬁa‘#% o

31 ey D 6 gﬂ PTO.
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12 Consider the following statements :
. i : Azad
- The Indian National Army had fighting brigades in the name of Gandhi, » and Subhash.

j. The slogans of the Indian National Army were ‘Jai Hind' and *Delhi Chalo."
- Rash Behari Bose was not associated with the Indian National Army.

How many of the statements given above are correct?
(2) Only one statement is correct, (B) Only two statements are correct.
(C) All three statements are correct. (D) None of the statements is correct.

(E) Question not attempted
Frfoies ®uet w3 R $ifm

1. e i & & e, oo ofe gwm & w9 & wifer Rk &
2. 9REE T 8 % e w e el R ger 4

3. faErlt g wid e @ & e w@ 8

T T SuieT el A @ feod ;wm adi ¥ 7

(A) FIe TH HY7 Tl £ (B) e & wu wE ¥
(C) wht & o | € (D) w9 g wh 7 B
(B) gaia w9

13 Consider the following statements.
1. The election to the office of the President of India is held in accordance with the system of

proportional representation by means of single non-transferable vote.
The value of the vote of each Member of Parliament from Uttar Pradesh is greater than the

2.
value of the vote of the MP from Goa.
3. Electors cannot use the provision of NOTA in the election of President.
4.  The provisions of Anti-defection law are not applicable in Presidential election.

How many of the statements given above are correct?

(A) 1and2only (B) 2and 3 only
(C) 3and4only (D) 1,2and4only
(E) Question not attempted

Praffaa Bu=T 9T fam Hig : .
155 ﬂnﬂ&smﬁrmwwmﬂﬂnﬂﬁwﬁmaﬁﬁmﬁmﬁwmh
2 mﬁﬂﬁmwﬁinﬁmqﬁwﬁm%ﬁm%ﬁnﬂ%qﬁﬂaﬁﬁ@m%t

3 mﬁ#gﬂmﬁqﬂmﬁamom}%mﬂqﬁmamﬂﬁmm%l

eoraracrrdtes e % ST gAY 3 g X e o ¥

4,
e o e e A @ Pt e W ¥
(A) e 1 it 2 (B) e 23t 3
©) w3 ais (D) e 1,2 3T 4
(E) orgarea 997
P.T.O.
31y D 7
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14 Match List ‘&. List 11 ;
Ukraine Evacuation Mission £

ListI
Operati anga i

a.
b. Operatign Cactus ii.  Reliefand rescue in Nepal Q3
¢ Operatigiy:Maitri iii. Neutralizing attempted Coup in Maldives
d.  Operation Kaveri iv.  Sudan Evacuation Mission
et 11 et 11 & v g &5

S8 g 11 (s
a. St i, g Pt Rrer O
b. sty it rer ¥ et ofrt gy w1
c. Iy ifi. T ¥ wEATIE % wara P Aera we
d.  sifeter @Rl iv. g=+ fremEr e
Choose the Coryect Answer from the options given below
A R g formedt § & W were @ v @

(B) a:i, b: i, c: ii, d:H

(A) a:i, briic:iii, d:iv

(C) a:ii, b: ﬁ iv, d: iii (D) a:iv, b: iii, c: ii, d*

(E) Questiqppot attempted / srgafta us - (51
15 Consider the [Lgawing statements : ' o

1. Public Efprest Litigation is a legal action initiated in a court of @r for the enforcement of
Publiciwrest.' g nsii "

2. PIL has reinforced the principle of locus standi. - T

3.  Both citizens and organizations can filea PIL. ' i

4. Su Court under Article 32 and High Courts under Articlef226 of the Constitution of
Iumnteﬂain PILs. £ h {{a’

How many omc statements given above are correct? £r

(A) 1and S . (B) 2and 3 only &5

(C) 3and y : (D) 1,3and4only {5

(E) Questidi’not attempteJ

Freferfiae ferart Fifera

1. wEfed e, sHiea & yad= % g =mareg ¥ fafas o &) )

2. Mo dwg @f % Riaia @ sRhe B ) ;f;

3. i@ gy wre dt fendum afae @ g £ ,:E;

4. m%ﬁﬁm%aﬂzﬂ%m%mmﬁaﬁﬂﬁiﬂ%ﬁmﬁm

G FHARY o
o g sualdieT § & Rt wom ad ¥ 7 &
(A) aw 1 8 2 (B) a2 3t 3
©) ¥aw3 4 (D) e 1,3 afd
(E)  srafg usw

P.T.G
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16  Consider the following pairs :

1. Leader of the revolution in 1857 in Ahirwal (Haryana) Rao Tularam

2. Leader of the revolution in 1857 in Faridabad (Haryana) :  Dhagu Singh

3. Leader of thg revolution in Hansi (Haryana) in 1857 :  Imaha)Ali Qalandar
How many of the Eve pairs are correctly matched? (&3

(A) Only one paipy

(B) Only two pairs Ui
(C) All three pai5y

(D) None of the pairs

(E) Question nofRttempted ©

Pt g e Qe aifong

L oftcam (sfamm) § 1857 & wify % ¥ I

2. wlerEm (sfvden) § 1857 ¥ wiftr ¥ o D o

3. wie (shearm)Y 1857 ¥ wify % e TR Feit

SR g ¥ & P g w g ¥ 7 |

(A) T s gy (B) e dr g ©

© whddgwl (D) T & 3 o g

(E) sraimus T

N (P}

17  Consider the following statements : 0

1. In 1676, Sh@i crowned himself formally at Rajgarh. Ui

2. The Karnatakgexpedition was the last major expedition of Shivaji. @w

3.  In1678, Shifji campaigned against Karnakata and forced Qutb Shahdd pay a subsidy of one

lakh huns. &3

How many of the statements given above are correct?
(A) Only one statement is correct.

(C) All three stdt@ments are correct.

=
(B)  Only two statements s correct.
(D) None of the statemm{ﬁs correct.

(E) Questinnn&.’if%rtempted - i
Pt et e e _ . c
1. 1676 % Rramtoens ¥ shoaie w9 & gome o3| .

2. wifes sEBORTEEh @ sift w31 st o)
3. 1678 % Rrare & aifeas % Frew v geman oit e e 2 T wE g SRES T 0 B

fome sy fomam " L\
fe T T [ fop e A ¥ 7 . 0
(A) et o w1 ®) wwawmad U1
©) wh & R ¥ ©) i wE T
(E) argafia well _ Y o
& ’
31 ey D ' g PO
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18  Match List I with List II in reference to Constitution of India :

List I List I1
a.  Article 263 i.  Finance Commission
b.  Article 226 ii.  High Court
c.  Article 239 iii. Inter-state Council
d. Article 280 iv.  Union Territory
I s & et & et 1ot gt 11 @ Prem i :
LSB T 1l
a.  ogET 263 i R omam
b. BT 226 ii. ueg =AW
c. ogBR239 i, st gfteg
d.  oTgadw 280 : iv. %y fere R
Choose the correct answer from the options given below
e g T ferdedt § & @ v @ agw Hifva
(A) a:iii, b: ii, ¢: iv, d: i 2 8L (B) a:i, b:ii, e:iii, d: v
(C) a:ii, b:i, c:iii, d: iv , (D) a:iv, b:ii, e: iii, d: i.

(E) Question not attempted / srgafta e

19 Match List I with List IT : . :
ListI i List I1

Second Schedule of Indian Consututmnj 1. - Administration of Scheduled Areas

a
b.  Fifth Schedule of Indian Constitution ii,  Comptroller & Auditor General
c.  Nineth Schedule of Indian Constitution iii."” Anti-defection laws
d.  Tenth Schedule of Indian Cnnstl‘rutmn iv.  Land Reform Laws
el %1 gl 11 € B difg '
I o

a. WG dfaue Bt gad g i orafd & W
b. e wfrur @ sradf s ii. Pris v el

o urdw i A aged i o R e
d.  wrcd gheem @ od omgd v, gfrgu e
Choose the correct answer from the options given below :
A R g feremedt & & @) T @ @Ew iR

. (A) a:iii, b: i, c:iv, d: i (B) a:i, b:ii, e iii, d: iv
(C) a:ii, b: i, c: iv, d: iii (D) a:iv, b:iii, c:ii, d: i

| (E)  Question not attempted / GRS
g lenD 10 . apg
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20 Consider the follo statements :
1. g;ih{i;}biﬂ& gh, the 10th guru of the Sikhs composed his versewain!y in Hindi (Braj
27 The P’lﬂ}l' Nilada an was written b}, Dinabandhu Mitra. m
3. | Anand Math contained the famous nationalist song ‘Vande Mataram.’
How many of the stdtements given above are correct? 1Y
(A)  Only one statétlent is correct. (B) Only two statements h#d correct.
(C) Al three statctfins are correct. (D) None of the statementéds correct.
(E) Question not Lamlnted n
1. Tl & 103 75, 76 i Rie ¥ oo oe geg &9 @ el (aw o) & @ &)
2 mm.mfﬁ“ﬂmm_ﬂmmt
T30 e We ¥ witEgerd e 4R weey’ et ¥ >
R Ty Tua wue B e wum w@ €2 g
(A) Fed us Fue N B i ®) FmATEEE o
(©) =t &= e Hal 8 ey (D) = & Ho vl T By
(B) Sgaia s gn 0
21 Consider the following statements :
' 1. Tames Mill vm]ughl}r critical of Indian religion a and cultura Y
2. William Benfigick announced in 1835, that Per:uan was ahnhshed ad e court language and
) was substttu@by English. ' O
3. Wood’s Des@h led to the establishment of university at Calcutta, B@mbay and Delhi.
How many of the sfiifements given abcw are correct? (V3]
(A) Only one sta%em is correct. va e (B) Dnly two statementstare correct.
(C) All three statements are correct. (D) None of the statements is correct.
(E) Question not attempted S
Preafefias ot ot R S e = m
1. o P A ﬁﬁ":@ﬁ'%ﬁ ST ; .
@ ™ o .
3, mmgmﬁﬁwmmﬁmmﬁﬁﬁmwm
far 7 T et ¥ @ e we W E 7 e
(A) ew O B G B . (B) %ﬁaﬁta’tmﬁwﬂﬂtl
©) wh A wem A ¥l C (D) W
(E) &ai wed -
31 ey D : 1
/
#
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Consider the following pairs :

1.  Mulfuzat : Conversations of Sufi Saints
2. Maktubat : Recollection of biographies of Sufi saints
3. Tazkiras :  Compilation of written letters

How many of the above pairs are correctly matched?
(A) Only one pair (B) Only two pairs

(C) All three pairs (D) None of the pairs
(E) Question not attempted

Frafafes gt o1 fera #iftne:
1. gagoma @ gw dal 9 s
2. W gEW @ gergar @ Aafar & e
3. wwsu : fod g s e dee
ST g A | e g el gk € 7
(A) ¥ TH gw - (B) %aw @t g™
(©) it it g (D) T & wrE o g
(E) srgaia we
Consider the following pairs : -
I. Darul-Adal  : ‘PlaccofJustice
2. Balahar t " 'Low class agricyitural laboures
3. Malikut-Tujjar  : Chief of traders |
How many of the above pairs are correctly matched? _
(A) Only one pair : (B) Only two pairs
(C) All three pairs s (D) None of the pairs
(E) Question not attempted
Prafaflas gt w3 fmm 2
1. aR-—sa-3mw : 19 & W
2. &mmER F P o gl ey
3. ERPE-gR : it @ gam
ST gl A 4 e g wh i ¥ 7
2; ?ﬂ:g B) g
(D) = & B o g ey
(E)  omefg s
k2 . 4 PIE
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24 Consider the following statements :

;. The writ, Mandamus can be issued against both Public Authorities and Prwate Indmduajs
- Mandamus can be issued to enforce a contractual obligation. '

3. Mandamus cannot be issued against the Goyernor of a State,

4. Mandamus can be issued against a state to refund the tax collected uniawﬁ:[]y
How many of the statements given above are correct?

(A) Only one statement : (B) Two statements

(C) Three statements (D) All four statements

(E) Question not attempted .

Preferfe wui o R i

1. afea, mmwmmmmﬁ%mwﬂﬁmmm
2. Mmmﬁﬁmmﬁ%fmmﬁmmmh

3. U % et ¥ R e ol sl Ren o e &

O R O T R T RS Ut G S G W ——
fe 1o wuiie Faet & @ R R E 7

(A) e o w0 B wwdwE ' |
(©C) Fmwmdms™ . _ (D) w4t art saw |

(E) orgefia wew i S 4

25 Consider the following statements ; ,

1.  Inorderto form a new state in the Indian Union, the Parilament can amend the provisions of
the Constitution with a Simple Majority. )

2.  To amend the provisions of Dlrf:chve Pnnclpies of State' Pc:-hc},r, the Parhament requires a !

~ Special Majority.

3. To amend Article 368 of the Consmutl-:)n, the Parhament reqmrcs Spemal Ma]unty along
with the consent of half of the state legislatures. e CogaE y

How many of the statements given above are correct?

(A) Only one statement is correct. . (B) Only two statements are mrmct

(C) . All three statements are correct.. ,, | . (D)  None of the statements is correct.

(E) Question not attempted AN T : '

fr=faftaa Huat T fiam #ifig N

1s Wwﬂ’wmmmﬁ%ﬁwm Wu@a%maﬁmm&imﬁ Hyire & qehell
%

2. 'nw-—?ri%r%ﬁ%&mfﬁ@ﬁﬂsmﬂﬁﬁﬁmmﬁ%hmﬁ&ﬁmwaﬁmmﬁatl
3. wfgum & agﬁﬂﬁﬂﬁmﬁmmﬁ#ﬁmmaﬂenﬁnﬁﬁﬁaﬁm@rﬁm%mm

TET B AT Bl 8 i |
fm o IuE WAl W © Reed wo EE €7 b g .
(A) e TP B ¥ ) 'Wﬁﬁﬂﬂ_ﬁﬁ?[ .
(C) = & waw = Tl (D) =g i werT wd T ¥ : :
(E)  ergafia wed ! vl 1%
3len D - 13 . PT.O.
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26 ' Consi hédi ; .. AG :
onsider the fo ng statements regarding the Global Survey on Dlglml(j:ild Sustainable Trade
Facilitation: 0 60

1. It was reléafpd by the World Trade Organisation.
2. The overajlygcore of India has becn greater than many developed coufifties.
3. Itis a bi-agnual survey that deals with trade facilitation measures taken collectively by the

WTO meniber countries.
E&W l'iJE:;l]}i' of the statement given above are correct: i
¥ B) 2onl :
(C) Alll,2ands E[ﬁ Naney ()
(E) Question rfggattempted o
fefree ot ¥z SRy o weitee o & gt Prefiflas soef o R A
1. 3@ fass e g W fan man an ' (43
s s, iyl aem?;rmtm' &Em aifrar ®
. T% WTO & @& 291 aru w9 § fipg e = Surdl ¥ @ |
R T TRtE HAPS & o wuw ad § 7
(A) F=wl (B) w2
© 1,283 s | (D) T & w da(E)  ogaia v
27 Consider the following statements regarding the Corporate Debt Market Development Fund
(CDMDF) : O
1. It will be established as an Alternative Investment Fund.
2. Contributithto the fund shall be mandatory for specified debt-oriented Mutual Fund Schemes
and Asset Management Companies. o,
d can be extended as pefSEBI’s mandate.

3. Initially, itrygll be established for 5 years an
How many of dﬁtatements given above are correct?
(B) 2 only

(A) 1only
(C) Alll,2and3 (D) None

(E) Question not attempted B

BIUNE S AHE : ﬁs(cnmm.ﬁ_mﬁmmmwm%:

1. zE& frder fiftr & wa o @ ot :

2. fiff= e I I iz Aerte dafl & forg o, ¥ giErE e gl

- RGeS JegsT |

3. wrtwd, sodd e 5 qd & frg ) e ofT 4 (SEBI) % Smdr 9 S W HeT B
fw T wude B ¥ & R FuT ae E 7 A -
(B) e 2 &

(A) #=@] 0O
(D) 7 @ Fs TE () i v

(© 1,28 30
28 Consider the following statements regarding the Foreign Portfolio Investment (FPI) in India:

1. It has fluctuated drastically in the past decade.
the net FPI in India was less than 1% of the GDP. i

s

2. In2022-2 ®
3. Foreign ange Management Act, 1999 is the primary legislation governing FPI in India.
How many of tg btatements given above are correct? ° A5l
(A) Only]l T} (B) Only2 Ly
(C) All Three ' (D) None &
(E) Question not attempted b
AT B =itz (FPI) & gt Prefemas st ot frem dfvg:

1. zod fued € ¥ wedw w9 @ sa-—erd g3 B

2. 2022-23 ¥, urta & g wwdiend, gy & 1% § & 41l

3. i s Ferdz uge, 1999 W A uwdiend &t Frafie # ae sl s

R o wutte Hael A @ feas wum adi & 7

(A) e 1 (B) 3aw 2

(©) =it i (D) ¥ & @i e (E)  orgafta 9ed
P.T.O.

31 101}__[] 14
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3. Chennai is one of the old

Consider the fo]ln:wuing statements :

;- Kandla port also known as Sardar Patel Port is tidal port.
- Marmagao port js for the premier Iron ore export,

est artificial ports of the country,
es in the export of Mica in the country,

(A) 1and3 only
(C) 3and4 only

(E) Question not attempted
lialbiicn i b Ry — it

1. ﬁmﬁi.wmﬁi%mﬁﬁmm%,%mﬁﬁwﬁum%i
i mﬁmmmmmﬁm%ﬁrﬁl
3.

(B) 2and 3 only
D) 2,3and4 only

A 29 GO Fhm o § 4w #
4, mm&&rﬁ‘m%ﬁﬁﬁa%mmﬁrmtl
EERLEL R S —
(A) ¥ 190 3 (B) 3w 2 it 3
(©) ¥aw3alts Ferss (D) %=w2,3 o4
E) wgaf@ uw

Consider the following statements relating to our Solar System :
1.  Saptarishi forms part of ::.anstel_latinﬁ Big Bear.
2.  Saptarishi forms part of the constellation Ursa Major. .
3. Asteroids Belt lies between orbits of Mars and Earth,
4.  The largest asteroid is Ceres, . y
How many of the statements given above are correct?
(A) 1and2 only ot (B) 2and3only
(C) 3and4only. _ (D) 1,2 and 4 only
(E) Question not attempted -
T W Hrew & e Preften weet o R A -
1. wa=l e faa aromess & feen g9mr &)
2. WWRIY STEI AW ARMUSH 1 fewam e &
3. gEUe 4 W oY gt @ wame % weg faa ¥
4. wad 731 g fat (Cere) ¥
feq o wudte wo § @ e mm R ¥ )

(A) Faw 1 afc2 (), "SR

(C) w3 sl 4 GRLLE

(E)  agaf@ s | ¢
e & | P.T.O.
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31 Match List I with List II ;
ListI List IT
a.  Mountain Breeze i. . Sahara Desert
b.  @hinook ii. Katabatic
c imoom iii. Snow Eater
d. cco iv.  Asiatic and African Dgsert
Chooggythe correct answer from the options given below : Y]
(A) i31,b-ii,c-iv,d-i (B) a-ii,b-iii,c-iv,d-i 0
(C)  gyyiib-i,c-iid-iv (D) a-ivb-ic-iid-ii (7
(E) Question not attempted o
e [ %1 e g4t 11 & $ifg (59
1 @l
a. e i, " How
b. R () i, e >
c. R i, e W
d fRe iv. ufirar afc aifteet Wﬁ
12 el Rt 3 @ W S 1 T AP o
(A) a-iii,b-ii,c-iv,d-i | S ®) adibdiicivdd oy
(C) - a-iii,b-i,c-i,d-1v ' & (D) a-iv,h-i,;-ii.i,d-ii
() Sgafa we7
W =
32 Match@ist I with List IT . - 0
t1 List IT _
a. mgcl Falls Shd. ‘Venezuela \D
b. @dsemite Falls "4 California Ui
c.  Niagra Falls iii. ~ South Africa &
d.  Victoria Falls iv. USAandCanada &0
Choogg,the correct answer from the options given below: fi
(A) @j, b-ii, c-iv, d-ii1 (B) a-ii, b-i, c-iii, d-1v
(©) i, beiv, c-ii, d-i (D) a-iv, biii, c-i, d-ii i
(E) (Qpestion not attempted %)
gt 1 gy Pt e 11 & g O
@ I o 11 (§ ]}
a. O 99 i, e (bid]
b. dEfE yu ii.  fermifan o0
c. fmmm gu iii.  afqor aTfeeT
d. {FFETE g . iv, gUET ST FHAET
e Ry feremedt & & weY v @1 WG i
(A) @i, b-ii, c-iv, d-iii (B) a-ii, b-i, c-iii, d-iv LA}
(C) @ii, b-iv, c-ii, d-i (D) a-iv, b-iii, c-i, d-ii L&}
(E) @fgmia ysw By '
31 ey D 16 gﬁ l
P.T.O.
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¢ R RN T W T
i L T
L. . J_ e

_(B) wmaf@ s

Consider the followi : i .
Exported PMuctzTﬁlfn%t%;ents regarding the Scheme for Remission of Duties and Taxes on

1. It provides a mechanism for exemoti
: ption of taxes,
2. The scheme ltsa ‘;RE?TD-cnmpatible and is being im
ments gi
R given above are correct?

(C) Both 1 and? ) Ledly
(E) Question not attempted

PRIl ST T 37 R 521 35 1y o o & v Prafies st ¢ e :
L. =% fraf aeqail vt ), gyt she 3o g s o ot et e 1 o

2. O WTO-3rew ¥ ot 9 & '
ﬁﬁmmwﬂﬁﬂsﬁ%ﬁﬁaﬂ@?ﬁ R i b

(A) e ) B
(C) 1#x2e=t ED])I ﬁﬁzﬂéwﬁ

duties, angl levies on exported goods.
plemented in an end-to-end IT environment.

A

7 i ‘ i
Consider the following statements regarding Prompt Corrective Action (PCA) Framework:

1. m}iy PCA supervisory norms are applicable to both Government and non-Government
s.

2  Discretionary actions under PCA include Restriction on Branch Expansion

How many of the statements given above are correct?

(A) 1only . (B) 2only

(C) Bothland2 Sk (D) None

(E) Question not attempted :

mﬁm@m@cm%ﬂaﬁaﬁmmmﬂnfamm:

1. == d PCA waide a1 Tl ofi fr—aterdl NBFC €M1 1t #irg 25 |

2 PCA & o1 fadandi &l § wia & e o widy aftafira ¥

& o Suted wuEl H | fha wem wE ® e

(A) Faw 1 _ £ k. o (B, -2

(C) 1823 (D) T a

(E} mjﬂﬁﬁ gﬁ i | . i | [ | I

Consider the following statements regarding the Fugitive Economic Offenders Act:

1.  AFugitive Economic Offender (FEO) is a person who has fled the country and -against whom
an arrest warrant has been issued for involvement in economic offenses involving at least
Rs. 100 crores. )

2. Under the Act, authorities are empowered to confiscate assets even when no conviction has
been obtained. '

‘3. Financial Intelligence Unit is the nodal agency to implement the J!_&_-::L

How many of the statements given above are correct? :

(A) 1and2 only © (B) 2and3 only

(C) 1and 3 only (D) -All1,2and 3

(E) Question not attempted . :
I Sited aifttra & defta Prafifas Ha wt fereme @i : _

1. wyffea g sitet (FEO) a8 @fir 2l &, 31 & & 9 5. 100 95T % o o 3 anfie
2 ¥, 91 Brew /I S & ot foved flawe stw Ave g b

2. W%m,mﬂmﬁﬂaﬁm'mﬁﬂﬁ%ﬂtﬁmwwﬁﬂﬂﬁaﬁﬂh

3, et Lfitw g afufam S ang e g e oeE :

fiw g Suiem wul E © PRA s ER ¥ € ¥

(A) e 1 3T 2 (B) e 2 8fiT 3 &

(C) aw 1aT3 ' (D) 1,233 70

(E) arafta wsa e

31 ey D 17 EEnAN
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R | ey _D ' 18

Which of the following features are associated with Regur Soils in India?

L. Itdevelops on crystalline igneous rocks as a result of intense leaching.

2. Itisrich in Iron, Potash and Phosphoric contents.

3. Itis typically found in north-west region of Deccan plateau and made up of lava flows.

‘4. Itisrich in calcium carbonate, magnesium, potash and lime.

How many of the statements given above are correct?

(A) 1and2 only : (B) 2and 3 only

(C) 3 and4only (D) 1,2 and 4 only

(E) Question not attempted

Freifeiae & & S Rastwar wics & Yme g @ g i 7

. =% dis Wi & st e freerr e Tzt ot Rt a1 &)

2. TE T, e o wiente wwe & g #e

3. U® g Y H @ GOR & Sav-qiim x F urh ot & o ww wrarvens & P ddr d
4. 7o Sivwgw s, Fifirgw, drera ol g ST A ¥ arar s )
R sutiem sl ¥ A e mum wdi 87 -

(A) %Haw 12 4 . (B) FEw2ei3

(©) ¥aw3 a4 | (D) 3w 1,28k 4

® e - ; el vt i

Which of the following characteristics is associated with red and yellow soils in India?
1.  Itdevelops on crystalline igneous rocks in area of heavy rainfall.
2. It develops a reddish colour due to diffusion of iron in crystalline and metamorphic rocks.

3. It develops yellow colour in hydrated forms.
4. It develops red and yellow colour due to iron and Sulphur in dry cnndmnns

How many of the statements given above are correct:
(A) 1and2only (B) 2and3 only
(C) 3and4only (D) 1,2 and4 only
(E) Question not attempted

Prefiierr & & s Radrard s & T oire diel ga @ e & 7

1. = o aut awt & & s org gzmi ot faefia e )

2. =% e ol sriafta gzml # omat & Rewgs & oo we o @ 8 ey 3
3. wwEmEses v A diar @ ol ¥

4. % g Rafr & emaw ot aewt & wrew @ ot W T & A ¥
& Tq udem wee & A fre wuw we § 7

(A) Ham1afir2 (B) e 2 ot 3
(C) %aw 3 sfr 4 (D) waw 1,2 st 4
E) o v

P.T.O.
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38 ' Match List I with List 1 -

List I SRk
a, Veld i lE.;lst -I|l
c CGH'F ass 1. South-Africa
B ifi. - North-America
d.  Prairie

iv.  South-America
Choose the correct answer from the options given below:

(A) a-ii, b-i, c-iv, d-iii (B)  a-iii, b-iv, c-i, d-ii

(C) a-iv, b-ii, c-iii, d-i (D) a-ii, b-iv, c-i, d-iii
(E) Question not attempted
e 1w P et 11 ) i "
™I Tl
a. dw= . e
b. &g i, afor-eem
c. TN ' iii,  SEC—amrlE
d. . 99d ' Civ. gftgr—ar e
eSS fw g ferepedt ¥ & wd waT &1 aw it
(A) a-i, b, c-iv, d-ini (B) a-iii, b-iv, c-i, d-ii
(C) a-iv, b, c-iii, d-i ' (D)  a-ii, b-iv, c-i, d-iii
(E) ergaia wew
39 Consider the following statements :
Statement-1 : The Jet Streams are the strong cores of upper-level westerly winds which follow

a meandering path. '
Statement-Il : ~ The term ‘jet strcam was first applmd to high velocity upper-level winds during
World War-IL .

How many of the statements given ah{we are currect?

(A) Statement-I and Statement-II both are correct.

(B) Statement-I is correct but Statement-II'is incorrect. .

(C) Statement-] is incorrect but.Statement-II is correct.

(D) Statement-I and Statement-II both are incorrect.

(E) Question not attempted

Pr=fafea o=t ot faar Fifg :

-1 Sz T Sl Tl ysdl gareill % HeTgd BT e €, nﬁﬁﬂﬁﬂumwm%l
sl Sz S 91 2 R g1l % 2o wer 3 A sl sl T 3 firg weeh T s fivan

911

few T wudiea wael & § fead wam @@ B 7

(A) g | e wye 11 91 |81 &1

(B) e 1 wél & ot weuw 117w 21

(C) @y 1 7era & afe waw [ad &1

(D) @y 1 ofrT aer 11 21 e €|

(E)  ergaf@ e
31ich. D 19 - RTO.
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40  Consider the following statement : There is renewed thrust on production of Millét Crops. Which

of the follf}?vingi statement(s) is/are attributable to Ragi Crop?
L. Rﬂﬂj is rain-fed crop and mostly grows well in black soil.
Ragi grows well on red, black, sandy, loamy and shallow black soil.

2.
3. Itiscrop of dry regions and rich in iron, calcium and roughage.
4.  Kamataka, Tamil Nadu, Jharkhand, Rajasthan and Arunachal Pradesh are major ragi producing

states.

How many of the statements given above are correct?
(B) 2and 3 only

(A) 1 and 3 only
(C) 2.3 and4only (D) 1,3 and 4 only

(E) Question not attempted .
Prefifas wemt o3 Rrar AR : Rz e ¥ s at sftrs st Rar m §)

freforfigg & & S99 FY7 T e § gEfua g ?
Tt et amenfe B & ol st S gar F o & wed

1.

2. T T, s, e, gee ol s sl ga A ored § wach #

3. ﬂgﬁﬂaaﬁ'm%aﬂtm,ﬁsﬁmmaﬁtm“{m]ﬂwﬁ%!
4. m,m,w,wmmmmmamwtu
frw g S HeAl § | Reat suA wEE?

(A) a1 8l 3 iy e (oyiB) A2

(C) Fae2, 334 - (D) %aw 1,384

(E) orgaid wed :

41 Match ListIwith'ListIl: . -] ¢ -
List I ' List IT
a.  Endangered Species ° L silao, it e . Desert sheep and hornbill
b.  Vulnerable Species ii. Blue Shgep
c.  Rare Species ; ‘jii. = Lion Tailed Macaque
d.  Extinct Species »..iv.  Pink headed duck
Choose the correct answer from the options given below:’ : W/ / '
: (B) a-iii, b-ii, c-i, d-1v*

A)  adiii, b-i, c-iv, d-ii i, o,
© (D) a-iv, b-iii, ¢, d-ii

(C) a-ii, b-L c-iv, d-iii |
(E) Question not attempted

el Lot forerrar gt 11 & ifore :
-l %ﬁzaﬁtmﬁﬂm
. ﬁlﬁm?ﬁﬁ i. :
b, argc ST ik
< e iii, @i oo A
iy, Tl fa and saw

. fagw
ﬁﬁqmﬁw@fﬁﬁaﬁwwwaﬁm R
(A) a-iii, b-i, c-1V; d-ii (B) a-}u, h—ll.t., C-I., d"lf
(C) a-ii, b-I, c-iv, d-iii (D) a-iv, b-iii, e-i, d-ii
(E) smaf@ws F

20 P.T.O.
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42 Consider the following statements regarding Periodic Labour Force Survey (PLFS) Report;
Statement-I Current Weekly Status (CWS) in urban areas is measured at the interval of three months,

Statement-II Present Labour Force participation rate (LFPR) and Unemployment rate is in declining
trend when compared with its base year 2017-18,

Which of the statements given above is/are correct?
(A) Statement I is correct only (B) Statement II is correct only

(C) Both Statement I and II are correct (D) Neither Statement I nor II is correct
(E) Question not attempted

: ﬁﬁqﬁwﬁwﬁﬁﬁwﬂsmﬁﬂwﬂﬂ‘ﬁﬁﬁfﬂaﬂmﬁﬂﬁﬁnm:
FF-l: el Al ¥ wie R wew (CWS) @ wéR % sfaorer e A smar 1

FHe-11 ; aﬁﬂﬁﬁﬂﬁﬁmﬁfﬁﬁmm(LFPR}mmﬂﬁmﬁmﬁzm?-lzﬁw
B Wt ¥, A ged e w1 vwe e Yl

i T S wee & § B A weT wd B

(A) Faw wu7 e &) (B) aw %y 11 & ¥

(C) =uw 1 i 11 341 wdi ) (D) =dtwa T d s Il adr g
(B) orgafa wew

43  Consider the following statements regarding recently released Reserve Bank of India regarding
Treatment of Wilful Defaulters and Large Defaulters Directions, 2023 :
1.  The directions are applicable to all regulated entities including NABARD, SIDBI and EXIM '
Bank. i
2. A walful default borrower needs to be reviewed and finalised within six months of an account '
being classified as a non-performing asset (NPA). :
3.  Lender cannot proceed against guarantor without exhausting the remedies against principal

debtor. : N .
How many of the statements g:'i{reﬁ'alimﬁ_lﬁrc,hém‘:? 2
(A) 1 only .. (B) land2only
(C) Al 2and3 . (D) 2and3only

(E) Question not attempted ;

g Rewieed oir o R siaer, 2023 % R % wan § fod & s s @t ot

fieier & deiftr Prafifas st ot fam @it : |

1. fréw avr fafrafir g@eal NABARD, SIDBI #fix EXIM & @fed Wt & &

2. ﬁﬁgﬂ%ﬁﬁzmaﬁmqﬁdﬁwmmﬁ%ﬁ—wﬁﬁ@z%mﬁmﬁﬁﬁ%%ﬂﬁ
& et 1 W afee | (NPA). | R ;

3. AT oA AT % Rrew v wurg R R et % Rrem e 8 @ waa ¥

g e ude wae A A R Fo B 7

(A) Heaw ; _ - {B}IﬁﬁiGﬂTE
(C) w=r1,2aMt3 (D) w2 8T 3
(E) orgaf@a wew
31 !CH__D 21 P.T.O.
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44 Match the following [ ico 1 ... A v, oY
lollowing List-I with List ' WY et 2 wempted
e LT i ot S i ot
L Absolute Advantage ol :J::f.ﬂ v AR T R ey y
+ Theory of Big Pusk % o s e
3. Theory of low e :::n“ A3
' Nwmk ) vons
. -
2 gt VT
awersit o N PR W iy g
gry ™ 70 \
(A 3 A
L L4

¢ omnidet the Following statermenty
. benanmational ¥inanciol Cor
Seeehopiing Conmties,
W TRBROEY Rt vational C
W e e \ewening ¢
x A Bl Wuead Vieeock
gy Tiow yeanm.

a

."‘.-

X ¥ M Z ""“h’
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45

Match the following List-I w:th List-II :
LIST-I LIST-II

1 Absolute Advantage a.  Paul Rosenstein Rodan

2 Theory of Big Push b. Adam Smith

3. Theory of low level Equilibrium trap ¢.  Richard R. Nelson

4 Balanced Growth Theory d.  Ragner Nurkse

Choose the correct option :

(A) 1-a,2-b, 3-c, 4-d (B) 1-b, 2-a, 3-d, 4-c

(C) 1-b, 2-a, 3-c, 4-d - (D) 1-d,2-a, 3-c,4-b

(E) Question not attempted .

Frefoafae gebt-1 & geit-11 & frems #ifag

-1 aR-11

1. guismm a. . Oie QETE s

2. famrgu @ freia : b. ueHfimyg

3. fre EI ¥ e o @ Rt c. fadam.

4. wgfea fawm fraia d.  PrgeEa

e frmey # g ¢

(A) 1-a,2-b, 3-c, 4-d ‘ (B) 1-b, 2-a, 3-d, 4-c -

(C) 1-b, 2-a, 3-c,4-d" p i o basis (DY 1 1-d,2-a;:3-c,4% 1111
E®) s iy i : o
Consider the following statements : &

1.  Gini Index is a graphical repmsentauon of the dlstnbutmn of income or of wealth.
2.  Higher the Gml Index, the greater the degree of income equality.
3.  The value of Gini Index has increased amongst regular workers while it decreased among

casual workers in India as per India Wage Report. -

Which of the statement(s) given above is/are correct?
: (B) 2and3 .

(A) 1and2 - —
(C) 3only (D) Ml],_zﬂﬁfi'?"'!_”“"l
(E) Question not attempted g A
Prafafas wa=i gt fram Hifg f e -

1. ik s g a1 99 & Raaeor &1 U difthene freweT ¥

Rl qEie R siftas g, omd wATar @i A S st B

2,
3 #ﬁmwﬁﬁéﬁmwﬁﬁnﬁﬁﬂ&mﬂiéﬁﬁﬁsﬁWHmﬂw%wﬁim&ﬁm
& dra 7E g B
f&qnqrmﬂaamﬁﬂﬁaﬁ#mfﬁﬂﬁ%ﬁ?
(A) 12 (B) 2aMT3
(C) %am3 (D) 1,28t 3 avd
(B) wigafaws
31 ey D 199 pT.0
E
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46  Match List I with List II:
List I B
8  ShipkiLake . Listm
b.  Lipu Leke b K.ashzmlr
c. JelepLa : L Himachal Pradesh
d.  Bumil il Uttarakhand
iv.  Sikkim
Choose the correct answer from the options given below:
(A)  a-iii, beii, c-iv, d-j SN,
©) a i, buii ::l (B) a-ii, b-iii, c-iv, d-i
U, c-i, d-iv (D)  a-iii, b-i, c-ii, d-iv
(E) Question not attempted ;
T Lot e e 119 i
w1 I
a e i i @i
b. g e i, e wer
c. WAy iii. wEEs
d =3iw iv. fufrm
A fog g feraedt ¥ | ) ww @ g A
(A)  a-iii, b-ii, c-iv, d-i (B) a-ii, b-iii, c-iv, d-i
(C)  a-iii, b-ii, c-i, d-iv (D)  a-iii, b, ¢-ii, d-iv
(E) agaf@mus
47  Match List I with List IT
List I . List 11
a.  Copperand Nickel ' "0 _ i. . South-Africa
b.  Chromite and plat:num B Y/ ii.  Ontario
c.  Phosphate B - iii.  Caucasus
d. Limestone : iv.  Algeria
Choose the correct answer from the options given below :
(A) a-ii, b, c-iv, d-iii (B) a-i, b-ii, c-iii, d-iv
(C) a-iii, b-iv, c-ii, d-i (D) a-iii,b-i,c-ii,d-iv
(E)  Question not attempted
e 1 o1 oy g 1 @r BT :
@1 S
a. i S friee e 456 i afr—ahe
b. wmmEe ok dfem i, T
C. . WhIEhe iii, . wEHy
d. ?T T v, \ﬂﬁﬁﬁtﬂ
*ﬁﬁf&qwﬁwﬁﬁﬁaﬁﬁtﬁrmﬁﬁm e 3 L
(A)  a-ii, b-i,cdv, d-iii -« - 0. (B) ah .b'lf’ el r:i-w
(C) a-iii, b-iv, c-ii, d-i (D)  a-iii,b-i,c-ii,d-iv
(E) - srgafta ws
31 ey D 23 L
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Consider the following statements in reference to the fertilizers sector in India:

48
1. Sulphur-coated Urea, also commonly called Neam-coated Urea will help in addressing the
sulphur deficiency of the soil.
2. Fertilizer Flying Squads (FFS) was constituted to provide crop-wise recommendations of
fertilizers for individual farms.
How many of the statements given above are correct?
(A) 1only (B) 2 only
(C) Both 1 and 2 only (D) None
(E) Question not attempted
WIRE | Ta@ &9 & wav § Prefifae saei 9 R #ifi
1. am;ﬁ%sq&m Y rree: i B gfan o wer o ¥, < gar d gent B B U e § a6
H 2
2. RSO W @S (FES) @1 Ta sfem-arr Al & frg wawan] sat@ 6 Rimier w1 % frg
Tesam mmam &)
g 1o Soted wul H @ fean s a7
(A) Haal (B) %aw 2
©) 132 aF (D) T & 3 &
(E) orgafia gs7
49  Consider the following statements :
1. International Financial Corporation is an organ of World Bank to finance private sector in
developing countries.
2.  ICIMOD - International Centre for Integrated Mountain Development is an inter-government
knowledge and learning centre situated in Switzerland.
3. All India Rural Financial Inclusion Survey is conducted by Reserve Bank of India (RBI)
every five years. .
Which of the above statement(s) is/are correct? Abeiseidi ;
(A) 1 and2 only : : ... (B) 2and3 only :
(C) 1only _ _ ' (D) All of the above
(E) Question not attempted Etaihem
- Frafafiga st 9 frem #ifo ALl
1. it foaedim form R da @1 O aft ¥ <7 e Rrerashier 298 o s &1t i Fereifive e 3 e &
2. qﬁﬁmﬁt{q@s‘} - g‘zﬁm 2T BT §AeT AT SgwudE feewds & fiug w
ST § af freror &g )
3. ?ﬁwmﬁﬁﬁﬂﬂmﬁﬁﬁﬂﬁ&?ﬂﬁﬁw&ﬁﬁﬁ% AT IR (smmedans) arer e st
SRR e F F e wd B/
E‘E :::@ﬁﬂ (B) w2 ot 3
® o | (D) s wh
LED|
31 ©y D

24 |
P.T.0.
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50 Match List I with List 11 - - Vo
List I * Listll

a. Iron ore Mines i Balaghat
b.  Copper Mines ii.  Amarkantak Plateau
c. Bauxite Mines iii. Gua and Noamundi
d.  Mica Mines iv.  Nellore
Choose the correct answer from the options given below:
(A) a-iii, b-ii, c-i, d-iv (B) a-ii, b-i, c-iii, d-iv
(C) a-iii, b-i, c-ii, d-iv (D) a-i, b-iii, c-iv, d-ii
(E) Question not attempted
et 1ot e gt 11 & wiifng
a1 . w11
a. T oUW @ W@H i, =m@mEE
b.  TRFEH : i, SHTEREE TeTT
c. iRz Han i, 7pem o g
d.  argsE B @ iv. e
Y fu o faeedt § | R 9O &1 99 Eﬁ&ﬂf{
(A)  a-iii, b-ii, c-i, d-iv (B) a-ii, b-i, c-iii, d-iv
(C) a-iii, b-i, c-ii, d-iv (D) a-i, b-iii, c-iv, d-ii
(B) orgafta we
51 Consider the following statements:
1.  Copper, Lead, Tin and Bauxite are non-ferrous minerals.

2. Manganese, Iron, Cobalt and Mica are ferrous minerals.

3.  Potash, Marble and Gramte are non-metallic minerals.

4.  Nickel, Cobalt and Plaunum are pn:cmus metals.

How many of the statements given above are correct?

(A) 1and 3 only : y . (B) 1and4only
(C) 2and3 only B : (D) 2,3 and 4 only
(E) Question not attempted

Prefrae @l OF e AT

1., den, o ol aTaETEE SEE mﬁfﬂ %

2. W,W,W@TMWW%I

3. drerd, AW ot ige e @i €
4, Frw, wawe ol A g oigd €l

&qmmwﬁﬂﬁﬁmﬁﬂﬂﬁﬁl%?
(A) Faw 183 | (B) ¥aw 1 ol 4
(©) ¥t 2 e 3 . (D) aw 2,3 A4
(B) st ued |

31 ey D | 25
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52  Consider the following pairs : :
1. The Vice-President of India : Article 62 of Constitution
2. Election of Vice President : Article 65 of Constitution
3. Terms of office of President : Article 59 of Constitution
How many of the above pairs are correctly matched? )
(A) Only one pair (B) Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted
frr=feras gt gt fyam @i
1. wia & syagehy : @R & sgeds 62
2. Iqqgf & g @ Wi @ ageE 65
3. rEaly &1 9INI I S & ey 59
YR gl 7 | Fnee g we gAfa € 7
(A) =@ Tm g (B) 9w & gW
(©), =it dit g (D) #EAga=d (E) orgate we
53 Consider the following pairs : : ' :
1.  Enlargement of Jurisdiction of the Supreme Court : Article 138A of Constitution of India.
2.  Conferment on the Supreme Court of powers to issue certain writs : Article 139A of
Constitution of India. - _
3.  Civil and judicial authority to act in aid of the Supreme Court : Article 144 A of the Constitution
of India. :
How many of the above pairs are correctly matched?
(A) Only one pair = MK s (B) Only two pairs
(C) All three pairs i (D) None of the pairs
(E) Question not attempted : .
e gt 9T fam $ifg
1. wdres =y % e #1 foam : wrdn d@fam o s 138A.
2. waEred =Eed @ $8 i Sl w0 @ it 5w S < ad S @ s 139A.
3. ﬂ?ma&m#mmﬂam-mmmm:mmmm
SRR gH A G e gH S gafea €7 B o
(A) % g% g™ 7 (B) TmmAgH
_ (C) =it it g7 ; - D) BN gHTE (E)  owRd W
54 Consider the following pairs: NN ; I i S
1. Dengue : Caused by mosquito and spreads through blood
2. Typhoid : Caused by bacteria and spreads through water
3. Ringworm : Caused by fungus and spreads through worms
How many of the above pairs are correctly matched?
%} gﬂiﬁﬁ::ﬁir (B) Only two pairs
I's -
(E) Question not attempted e prileio D s pas
1. t&:w%mﬁm%@ﬁuﬁ%wém%i :
2. IS : Wiy % wre g # o a3 e @ S &
3. : %% & A e ¥ i A v
SR g A & Rt g ) gifera ¥ 7
(E) orgefea v (D) 7% i ot e iy
31 (o
c)_D ; 26
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55  Consider the following statements :

;hnaergzi;bzakdnm of glucose in cells results in formation of which of the following compounds?
2. Lactic Acid

3. Carbon dioxide
4. ATP

How many of the statement given above are correct?

(A) 1,2,3and4 . (B) 1and2only

(C) 1,2and 3 only : (D) 2and 3 only

(E) Question not attempted .

e weet ax frame B

?ﬁmﬂ@m%mﬁm (mramm; & aftomreren fret % & s A o g 2

- ¥

2. wfes aw

3. @A SReTEES

4, uwHd

Iutia HgAl o ° fove dum ad ¥ 7

(A) 1,234 | (B) %aw 1 8iT2

(C) ¥aml,2e3 | (D) &g 2 3T 3

(E) &gafta v

56 Consider the following statements:
During Urine formation which of the following substances are selectively reabsorbed from the

initial filtrate? o R i

1. Glucose '

2. Amino Acid PR P
3.  Salts o

4.  Water
How many of the statements given above are correct?
(A) 1,2,3and4 - (B} 3and40nl}'

(C) 1,2and3 only (D) 40111:-; o
(E) Question not attempted :
Freferfias waT a¥ feram #ifeg :
s Prefr % et P 3 @ i & e v Frede fﬁi@?}ﬁ'ﬁ'ﬂﬁaﬂﬁiﬁ srashfi Phy TR ¥ 2
1. Ta@e | o
3. @Eu o :
e Pt e ¥ 7 |
farw 1o ToeR Fa H | HY . ] -
(A) 1,2,3 ¢4 E (B) a3 34
(C) Faw 1,233 (D) waw4
(E) argmfta 997
' ' PT.O.

3 } {E1}_'D .2?
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Consider the following statements: . _
Which of the following plant hormones helps in promoting growth in plants?

1.  Auxins

2.  Gibberellins

3.  Cytokinins

4.  Abscisic Acid

How many of the statements given above are cotrect?

(A) 1,2,3and4 (B) 1,2and3 only
(C) 1and2only (D) 1 only

(E) Question not attempted

fFrfaftas Hust a7 freme #Hifng

Freforiaa & & Si9—ay gy ety ey 9 9fs ¥ weg w@Erd 7

TR
foratfer
TTEerEmEtE

4. ufeiys s
g T Syt e ¥ e wuw ad ¥
(A) 1.2,3&4 (B) FHaw1,2aht3

(C) FHawlsiw2 _ | (D) w1
(B) sgaia v
Consider the following statements:

Statements-1: The length of the small int
. they eat.

W =

Statement-2: Herbivores needs a longer small intestine to allow the cellulose to be digested.

How many of the statements given above are correct?

(A) Both Statements are correct, ¥
(B) Statement 1 is correct but Statement 2 is incorrect.

(C) Statement 1 is incorrect but Statement 2 is correct.
(D) Both statements are incorrect.
(E)  Question not attempted

Pretfifaer speret T forare o

m—l:wmﬁaﬁﬁﬁmamﬁﬁmaﬂmaﬁm%aﬂmwﬁwﬁfﬁ%t

W-Z:ammﬁﬁﬁ?@a%mﬁgﬁ,ﬁﬁm“ﬁﬁmw@?ﬁ%l
F% g St et & & o ool & 7
(A) < et gy

28

estine differs in various animals depending on the food
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59  Consider the following statements:
- Statement I: The effect of ant bite can be neutralised by rubbing calamine solution.
Statem.ﬁnt II: Calamine solution contains zinc carbonate which is basic in nature.
In the light of the above statements, choose the correct answer from the options given below :
(A) Both Statement-I and Statement-II are correct and Statement-1I is the correct explanation for
Statement-I.
(B) Both Statement-I and Statement-1I are correct but Statement-I1 is not the correct explanation
for Statement-1.
(C) Statement-I is correct but Statement-II is incorrect.
(D) Statement-I is incorrect but Statement-I1 is correct,
(E) Question not attempted
Frr=fafiaa st vt fream it
F I W1 & €& & wwre &1 e e @t trewt Propnie femn o wwa B
& 1 S faeraw & R e g & <t arda seft @ &
S YA Bl A F TEd g, A g 1y e § @ v et @ g wif
(A) Fe-1 T Hu-11 21 wé & 7un HaA-11, Hg7-1 51 98 @i ¥
(B) wua-1 ot Fu=-11 €91 w8t & ot wam-11, H99-1 o1 98 w78 ¥
(C) waa-1adt ¢ e saa-11 Toa &
(D) =ea-1 7w & wfe wgw-11 wd ¥

(E) &gaita us

60 Consider the following pairs :
1. Plane mirror : Image of the same size as the object
2.  Concave mirror : Rear view mirror in a vehicle

3.  Convex mirror : Dentist
How many of the above pairs are correctly matched?

(A) Only one pair _ (B) Only two pairs |
(C) All three pairs (D) None of the pairs |
(E) Question not attempted !

Pr=feftaa i gt famw aifeg @ -

1. oo o : avg () @ T8 §HIT ST @1 ites
2. orEaw ado : aned ¥ v o (va-geg) aiu
3. oW gy 4 fade

wqdiga gt # | fea g adé gt €7 Py
A) waw (B) 131 g™
EC}) wé‘ﬁ? . (D) FHaFEHgET (B) Wﬁam

61 Consider the following pairs : Plagmion : :
1.  Quick lime : Manufacture of Cement 2., -Slaked lime : Preparation of Soap

3.  Plaster of Paris : Making Toys :

How many of the above pairs are correctly matched? _

(A) Only one pair ' (B) Only two pairs

(C) All three pairs (D) None of the pairs

(E) Question not attempted

Pt gl X Rrar AR

1, feaaw sfeas : 9 @ Fmf 2. 1 G ¢ WG S

3.  wmey Hﬁﬁ : fawiet ﬂﬂgﬂ? '

e g § & R g gART €

B (B) %aw & g™

Eé)} ﬁgg (D) T MgET  (E) i 9

PO
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Consider the following pairs: i L

1. Equal Justice and Free Legal Aid : Article 36 of Cn?séltuuqn "

2. Promotion of Cooperative Societies : Article 43B o onstitution e

3. Participation of Workers in Management of Industries : Article 43A of Constitution

How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs'
(C) All three pairs (D) None of the pairs
(E) Question not attempted

Frfwfaa g vt fram g

1. &9 = ok Pryges sl @eraan : gt & omede 36
2. wEwRl wifEl S ggran 39 ¢ whiae w1 s 438
3. wEr & e § aftret @ welard : dfrae o arede 43A

Sudied gt o ¥/ fee g ol g ¥ 7
(A) =W TH g™ (B) % 3t g
(C) =it g | (D) @EAguTE (B) orgafasd
63 Consider the following pairs :
1. Right to adequate means of livelihood : Article 39(a) of Constitution
2. Equal pay for equal work for both men and women : Article 39(e) of Constitution
3. Right to work, education and public assistance : Article 41 of Constitution
How many of the above pairs are correctly matched? .
(A) Only one pair - i (B) ' Only two pairs
(C) All three pairs "= /(D)' None of the pairs
(E) Question not attempted " _
Fr=foiaa g 91 o #ifeg W e
L i & vafe Sres & sifte e ; ShemE sgee 39(a)
2. goul S Hfewsit <t % forg T F % g e daw « e a1 ek 39()
3. @m, e o Aol werar & st : diam @ e 41
wriw TR A e gE e g k-
(A) e T% g (B) | Haw & g
(C) @i & g - (D) aRANFgWTE (B)  sraid W
64  Consider the following pairs : '
1. Educational and economic interests of weaker sections : Article 45 of Constitution
2. Educational and economic interest of SCs &STs : Article 46 of the Constitution
3. Organization of agriculture and animal husbandry : Article 47 of the Constitution
How many of the above pairs are correctly matched?
(A) Only one pair (B) Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted
L. Wmﬁmmqﬁwﬁiﬁ%ﬁ:ﬁﬁﬂﬁmaﬂﬂzﬁ
2. mmmwm%mmmﬁmﬁmﬁ&mww%
3. - . 1
PN T ST wiTet : e orgede 47
ST U X & Rt g vl it & 7
L T g D) Ay
5 TAT (B)  orpefta yw
©y_D 30
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65 Consider the following statements : ' ;

66

31 icy D 31

1. Alkali is a base that dissolve in water.

2. Ca(OH), is not an example of alkali.

3. Dissolution of a base in water is an exothermic process,
How many of the statements given above are correct?

(A) Only one statement is correct. (B) Only two statements are correct.
(C) All three statements are correct. (D) None of the statements is correct.
(E) Question not attempted |

Frefofias wa= o famme HIfAT ¢

L. oo ¥ gawsie s &t ot e ¥

2. Ca(OH), &I 1 33w &l &1 | :

3. el e o v ® g ue Swmand i ¥

g 1o avte S A @ e s adi ¥

(A) %aq Us waw TE Y| - (B) aw 5 BT HE £
(©) @i =1 Huw e ¥ (D) & ot s ga 5 ¥

(E) orgafta ne

Consider the following pairs:

1/ Alid Jeft by bes sting af honey bee SHC

2. . Atmosphere of Venus : H,S0,

3.  Antacid : Methanoic Acid

How many of the above pairs are correctly matched?

(A) Only one pair is correct. (B) 'Only two pairs are correct.
(C) All three pairs are correct. * ' ' (D) None of the pairs is correct.
(E) Question not attempted d '

freafefaa gt ot et #iforg

L. sreped % e & gret T o < HCL

2. @ %1 agEeE ; HyS0, | e bl

3. s : e o i Aot

TR g A A R gy it e e

(A) F@TEgHERE (B) aw A gW W

© whddgmwd® - . O FEAFEEHTEE

(E) orpafa 9o

RT.0.
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67 Match List I with List 11 :
List I
26 Constitutional Amendment  i.

List II
Reservation for EWS.

a.
b. 52 Constitutional Amendment ii.  Education as fundamental right
c.  86™M Constitutional Amendment  iii. Abolition of Privy Purse
d. 103" Constitutional Amendment iv. Anti defection law
et 1 &7 et 1 & fiyer #ifg
gl g I
a. 26ai gifenfe defys i. g%y ud & fing e
b. 5297 wifquife deitaw ii.  fre & dferes sifrere
c.  86ar wifquntre deiaw iii.  frdt o %1 g
d. 1034 wifenfye deftam iv. awEEE-Rdd s
Choose the correct answer from the options given below :
e g g farmedt § | 9 IO @1 w99 Hifw L

(B) a:i, b:iii, ¢ ii, d: iv

(A) a:iii, b:ive: i, d: i
. (D) a:iv, b iii, c: 11, d: 1.

(C) a:ii, b:i, c:iv, d: iii _
(E) Question not attempted / srqafta w57

68 Consider the following pairs:
Consolidated Fund of India : Payment from the fund can be made without Parliamentary

1.
appropriation.

2. Contigency Fund of India : Held by Finance Secretary on behalf of the President of India.

3. Public Account of India: Executive requires Parliamentary approval to withdraw money from
this account. _ ' i

How many of the above pairs are correct? .

(A) Only one pair * (B) Only two pairs

(C) All three pairs (D) None of the pairs

(E) Question not attempted
1. e it wifere s ffly @ sy wed fafrite % R R o g 3
2 W#Wﬁﬁ:w%maﬁmﬁﬁmﬁrﬂm%ﬁamﬁﬂ&ml

3 " g e @ il Pt 6 g et ) vk g @ smasmm d

Twﬁ%ﬁwnﬁgﬂm%?

© ?ﬁﬁ (B) ¥aw 4 g

® g (D) £ & 9 oy g =y
31‘&11._‘_[]
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69 Consider the following statements :

Statement I: Hydrogen is considered as a clean automobile fuel for future,
Statement IT: Hydrogen is the most abundant element in the universe.

In the light of the above statements, choose the correct answer from the options given below :
(A) gt{;?c S ent-I and Statement-1I are correct and Statement-II is the corrget explanation for
m
(B) Both St'ﬁﬁment-l and Statement-II are correct but Statement-II is not the %ﬁﬂt explanation
for Stat nt-1. U-i
(C) Statement-1 is correct but Statement-I1 is incorrect, 0D
(D)  Statement-I is incorrect but Statement-II is correct. 0
(E) Question not attempted
Frefefias Haife fram e : - . e
w1 STEgota s & R e sitemeTe % e A wr o 31 L)
w11 o WGt A A g Wt A we d O
IULE HUA ﬁwﬁm,ﬁ%&qwﬁmﬁﬁﬂﬁmmm?ﬁﬁﬂ: 841
(A) -1 olygpre-11 3 8 & we Fum-11, wem-1 & wd wderd | @
(B) er-1 3it w11 21wl ¥ e per-IL, ool a7 il endmor w3y OO
(C) =ua-198 ¥ afe waw-11 o &
(D) @a=-1 e & aifte wer-11 ol &1 &
®) oo W
: i
70 Consider the %owing pairs ; in
1. Ginnin%epamﬁnn of cotton fibres from seeds (48]
2.  Weaving : Making yarn from fibres oo
3. Polyester : Melts on catching fire and sticks to the body
How many ofjthe above palI'S are r:c-rrectly matched?
(A) Onlyodhgdpair ' “““' ' B) Onlytwo pairs i
(C) . All thré€pairs ' (D) None of the pairs W
, (E) Questiddhot attempted E%
Pt grfft fream @i - . o0
i aﬂzﬁﬁmru mﬂmmaﬁmm o
2. g : e ¥ 9 g9
3. et Wﬁvﬁﬁﬁaﬂm%mwﬂ?@rﬁqﬁm%
Sl gt & et g g 7 a
(A) ¥ wwifn (B) Fawagm 0
(C) it Sk : : (D) T § =g ot g T Ui
(E)  orgmfa . Q0
| 31en D 33 © PTO.
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71  Consider the following statements: ‘ .y :
Touching a flame is an urgent and dangerous situation and we drag our hands involuntarily. Thig

fast reaction is attributable to which of the following structures of the nervous system?

1.  Spinal Cord
o Motor Neuron
3. Brain

4.  Sensory neuron
How many of the statement given above are correct?

(A) 1,2,3and4 (B) 1and 2 only
(C) 1,2and4only (D) 2,3and 4 only

(E) Question not attempted

Fraffas wuet ot frar Hifg
it sramasas ol waTs Rufy & ot &Y wat e Ut ¥9 ST A9 31 Wi o ¥ 19w afa wfalear

it = = Prerfrfaa & & frg gt & Hreor Rl 8 7

1. 9879
2. WS dbe Sy
3. ==

4. <t ot S ) :
o sai A e g a1 &7 _

(A) 1,234 | (B) e 1 it 2
(C) Faw 1,244 (D) e 2,34

(E) orgaRa ws

72 Consider the following statements :
Which of the following functions is/are influenced by adrenalin?

1. Increase the heart beat

2. More Oxygen supply to muscles.
3.  Increased supply of blood to the digestive system.

4. — Breathing rate declines. - ' :
How many of the statement given above are correct?

(A) 1.,2,3and4 (B) "1 and 2 only
(C) 1,2and3only (D) -1 only

(E) Question not attempted ' |
fFreferfaa st 9t ferart #ifi

Frreferfad & & B-w1 / 9 @ AR arr wofg e 2

. Tew @1 uzHe @ I Har B

A ey & erftres amn F et Bl STgf

9T W 5 T @ sy o ghig ' |
4. HET T H HHY

mmmﬁw&ﬁﬁﬁiﬁmmaﬁﬁ?

(A) 1,2,3 a4 B) eEw 1

(C) @& 1,2 afir 3 E’D; a;amaﬂw

(E) orafta wss

31 ey D :
= 34
P.T.0
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73  Consider the fol@ing statements regarding diabetes:
1. Itis causew the oversecretion of insulin by pancreas.
2. The glucosglevel increases in the blood.
3. . The patienfiirinates frequently, loses weight and becomes lethargic.
How many of the statements given above are correct?

88G6LV

(A) Only one statement is correct. (B) Only two statements afe.correct.
(C) All three ments are correct. (D) None of the statementhsik correct.
(E) Question nd{ attempted O

YT & wey A Fe X R Bt ; U

L. % o= g Sy % o w3 Hre g §) _ 0

2. N S R 9GO .(33
3. fr o ar-ar AT o ¥, ae B € W ¥ ofe g ot ¥

TR EA Y e e wd e -
(A) ¥wumTdREE (B) ¥ wyTEd ¥
(C) =i it el it ¥ D) wESrmm g
B) ot wel? (s
o i
74  Consider the fu;@ing statements : 0
Statement I : Thé blood arteries have thick and rigid walls.

Statement II : Arteries carry oxygen-rich blood from heart to various body organs under high
pressure, e

In the light of th'&bﬁve statements, choose the correct answer from the optighs given below :

(A) Both Stat t-1 and Statement-II are correct and Statement-I1 is the &gkrect explanation for

Statement | T
(B) Both Statdiknt-I and Statement-II are correct but Statement-II is not & correct explanation
for Statendent-1I. ' oo

(C) Statementfids correct but Statement-II is incorrect.
(D) Statement-I is incorrect but Statement-II is correct.

(E) Question not attempted 'm
Frefofiaa s+ Hifre | : L
& Ik T et 7 & Har B 2 O

%y 11 et ~RT T B 9o T ¥ 5 @ e & R ofh v o ¥
Tuda wet B Iy A T 5, A R o R ¥ wd v @ e @it - 0
(A) w1 oi(Bua—11 9 wd) & aun wam-11, He-1 %1 g T ¥

(B) wuw-1 aft wem-11 31 wel & it wem-11, &ae-1 &1 wd wlemte T8 &)

(C) wem-I wé & dftew wum-11 o &1

(D) -1 e & w5 -1 et ¥

(B) ogufmusw

31 {1:1:._-]:) ' 35 “PT.O.
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75  Take few drops of onion juice, dilute vanilla essence and clove oil in three different test tubes ang

76

consider the following statements: . .
1. The characteristic smell of onion vanishes upon addition of NaOH, however 1t persists with

HCI.
2.  The characteristic smell of vanilla is lost upon addition of HCI, however it persists with

NaOH.
3. The characteristic smell of clove oil is lost upon addition of NaOH in it.

How many of the statements given above are correct?
(A) Only one statement is correct, (B) Only two statements are correct.
(C) All three statements are correct. (D) None of the statements is correct.

(E) Question not attempted
AT ST ST YTEE! § A & T B P g, et Afren wde i win % A @ S Prefafes was

u¥ g #ifvme -
1. NaOH e vt @ @t fafdte sy e o ot &, emifs g8 HCI % | =5 wedr &

2. HC]'&lﬁﬁ"‘ﬂ'aﬁﬁTﬂﬁmﬁﬁﬁjﬂﬂ?ﬁﬁtmﬁﬂ?NaﬂH%ﬁmﬁT&ﬁ%I
3. @ % da ¥ NaOH R 13 saey Rifdre ey gare o s &1

few o Sutla FuAT A A feon sym ad ¥

(A) ¥ T Fo ¥ B) ¥ & wor wh ¥
(C) uh &t wuw wét ¥ St b (D) aﬁ%ﬁlmuﬁﬂﬁmﬁr%t
E) sgaRagsd . .

Conmder the following statements: '~ ey

1. When pH of rain water'lies in the range of 6 10 7, it'is called acid rain.
2. Tooth enamel starts to corrode when pH of mouth is greater than 7.

3. Under acidic conditions farmers would treat the soil with quick lime.

How many of the statements given above are correct?

(A) Only one statement _ (B) Uni}" twn statements

(C) All three statements (D) None of the statements

(E) Question not attempted -

Prefrfia et o foere ifome - | |

L. e auf st &1 pH 6 @ 7 % &ra gia1 &, &) 38 onaig aut wer s &

2. HE® pH 73 siftes 17w il % A (Gxeh) @1 & 81 wer &

3. mﬁmﬁﬁuﬁrﬁﬁ%&mﬁ@aﬁ%ﬁaw%%w%ﬁ%.

e My St e & 4 Rt e wd £ 7

(A)  Faw v wo wé &) (B) et a ey el ¥ |

(©) g A e wdy ¥ D -

(E)  srpafia uem = aﬁgﬁquﬁ%l- L
31en D 36
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77  Consider the following Statements relating to Pradhan Mantri Jan Dhan Yojna (PMIDY). It is
intended to - . .

1. Provide access to financial and social services at an affordable cost.
2. Use of technology to lower cost and wider reach.

3. Opening of basic saving bank deposit account in camp mode with minimum balance of
Rs. 500 and zero charges.

4.  Issuance of Indigenous Debit Card.

How many of the statements given above are correct?

(A) 1and3only (B) 1 and4 only

(C) 2and4only (D) 1,2,3and 4

(E) Question not attempted
Wmmﬁmwmmﬂﬁﬁﬁﬁaﬁwﬁfﬁﬁmwﬂﬁmﬂm:

L 5w wivd faeir of wmafves danell 9t awiig wwa ot wam won &

2. a1 e wee i R v o wwd s

3. %yHE ¥ ghoq 499 . Sﬂﬂeﬂtwwﬁ&hﬁm%wm@W|
4. e e H W e

fog 7 Sutie waei ¥ @ e sum ER ¥ 7

(A) aa 133 (B) #aw 144
(C) wam 234 -« (D) 1,2,344
(E) rgafa ws

78 Considered the following statements:
’ 1. Samudra Gupta's "Vyagrashaili' postures reveal his conquest of the West.
2. The coins of the Ashoka era give us information about his 'governance system'.
3. Onone of the seals of Satavahana King Shatakarni, a picture of a 'ship' is engraved, which is
- a symbol of his victory over the sea. :
4.  Information about Ashvamedha Yagya is found in the coins of Kumargupta's 'Ashvamedha

style'.
How many of the statements given above are correct?
(A) land2only . i) (B) 2and3-only
(C) 3 and4only (D) 1,2 and 4 only
(E) Question not attempted -
Frefaftaa Hat o frar @i

1. a7 & ‘e gmaﬁ#mﬁﬁbﬂﬁrﬁmmqﬂrﬂﬁmtl

2. ot g o el @ Suel ‘e gafy @ e e e

3. WIETET T Bl At U AT 9T e o e vl ¥, 9 9w wyg e a1 vl ¥
4. FEICID B ‘evany Sl & Rl & sty gu @ e e ¥

fow o aude wuEi A | P e wd £ 7
(A) Faw 18ft2 ' (B) awm 23T 3
(C) Haw3afcd (D) %aw 1,234
(E)  orgeia gea . :
31 ey D - P.T.O.
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79 Consider the following statchfénts : o
1. The Puranas call the Swahanas ‘Andhrabhritya’ and ‘Andhrajatya’.
2. The history of Satvahanas is especially found in Vishnu and Bl?aswﬂ P
3. Names of more than a hundred kings of Satvahanas are found in the Puranas.
How many of the statements given above are correct?

StV

(A) Only one statement is gQyrect. (B) Only two statements are corréet
(C) All three statements arggorrect. (D) None of the statements 1s cﬂ%ﬁ
(E) Question not attempted J1 L7
Preffan et ox R _ @0
L gOon & grarest & ‘st qur ‘e’ s £ w0

2. wwEre & shver fsy o s g ¥ s w9 & Rrewr B

3. g ¥ wraaret & s s ol F e R ¥ B

R g TR wa & & Pt ad &2 Ll

(A) ¥aw oF HaT aer & L’ﬁ (B) %aw & wow gy ¥ o
(C) wbt o waw w8 ¥ 53] ., (D) = R sggad ST Ui

' (5¢]

(E) orgaia wed Co o

80 Consider the following statements: : ¥

1. Kabir Granthawali is f&Tted to Dadupanthies of Rajasthan. =N
(%)

2. Meera's teacher Raidawas a weaver. el ;
3. Malik Mohammad Jayfasj promoted the establishment of prayer halls like Nﬁgh&z
How many of the statement{iven above are correct?

(A) Only one statement is %ct. (B) . Only two statements are cnrgt.
(C) All three statements are correct, (D) None of the statements is correct.
(E) Question not attempted.
Fretferfien westi v farary BT § AN
1 ﬁﬁrﬁmﬁﬁmﬁﬁatﬁ%m%a@ﬁhﬁﬁ%i %;
2. dru J
S T6 e syerme e}éﬂ i

: ﬁmﬁw%wﬁﬁmdﬂmaﬁmaﬁmf&w M
R0 S e 3 4 o el 7 W
(A

) O ey 3 (B) = R wuw wd &

(D) & W e fy i 3

38
P.T.O.
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81 Mat{_;h List I with List I1:

List IT
Karawar
Mehtar .

Kaiwart

Aakhetak

a-iv, b-i, c-iii, d-ii

List I
a.  Nishad ;
b. Channakar ii.
C. Mchhuaam iii.
d.  Pukkus or Paulkus iv.
T Lot Prerr et 11 ) S

T
a. Pue i.
b. =i g | -
c.  HEHT iii.
d. YW 91 dwgw ; iv.
Choose the correct answer from the options given below:
%ﬁqmﬁ:ﬁq‘iﬁﬁnﬁwwwaﬁ‘ﬁq:
(A) a-ii, b-iii, c-iv, d-i (B)
(C) a-ii, b-iii, c-i, d-iv : (D)

(E) Question not attemptéd | SErE we

82  Match List I with List IT:
ListI

a-i, b-iv, c-iii, d-ii

I AW AR

a. Jogalthambi | . i Nashik (Maharashtra)
b. Devbarmnak ii.  Bijapur (Karnataka)
c.  Devarashtra BT 2eC il Vishakhapattam (Andhra Pradesh)
d.  Pattadakal - iv.  Shahabad (Bihar)
i L et et 11 iR i

I @I
a. ST i, i (TeTE)
b. awts i, dwge (@tes)
c.. T iii, - frgmaTogeT (sw v
d.  wzsmw ez v e (Rew)
Choose the correct answer from the options given below:
et R et 3 & wér e @ B :
(A)  a-ii, b-iii, c-iv, d-i (B) a-iv, b-i, c-iii, d-ii
(C)  a-ii, b-iii, c-i, d-iv (D)  a-i, b-iv, e-iii, d-ii

(E)  Question not attempted / iﬂfpﬁﬁﬂ bEL
31 ey D 39

P.T.O.
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83  Consider the following statements:
A raga is associated with a specific mood, time of the day and season. For every

Statement | :
raga there are six female consorts called raginis.
Statement I1 : mgamafa paintings are pictorial interpretations of ragas anghraginis.
How many of thelgthtements given above are correct? W
(A) Both Statemént I and Statement II are correct. 0
(B) Both Staterhdht 1 and Statement II are incorrect. L
(C) Statement 1§8correct but Statement II is incorrect. g

(D) Statement Iggincun'eﬂl but Statement Il is correct.

(E) Question not attempted

Pr=fofas wat B |
Tl 1. o e s e 1 e 5 o o e 2

R P £l O
e I1: e S T i afird R v §1 Ui
fra e e wudiE & e wm Eh ¥ o
(A) wu=-1 3T wEe-11 31 wéi &) (48]
(B) wyu=-1 3 Fy=-11 < 7T €
(@) FuE-Ih E afee sge-1 e T
(D) Fo-1 e Here He-1 a8 ¥ i
®) mﬂamm W
O
84 Cnnsider the fuﬂ%g statements: o
1. Aditya-Ll ace observatory with 9 payloads designed to study the St
2. T]]E VELC take 'image the Sun’s annusphere the Corona at h.lg.hmmlutmn and time
. Adatya —LI carries an uin'avmlet imager, 3 X-ray spectrometer and four in -situ instruments to
measure plasma parameters. B
9y

How many of thd.éfatements given above are correct?
(A) Onlyone d@tement is correct. (B). Only two statements agggorrect.
(D) None of the statements i§ correct.

(C) Al three siaftments are correct, |
(E)  Question nbfattempted m
firefaftaa waeT TEfar S
1. 9%y % gy anféa-L1, mﬂﬂﬁumaﬁq&ﬁwmﬂsfmmﬁmﬂm%l
2. VELC g4 % uftve, Fe Y ST 21 T I HITH B By A
3. enfe-L] ¥eiont dondred FY AT & RTQ O SgEEaE T, :’sm—tm&ﬂuaﬁrm:ﬁ-ﬂﬁ
SuETUl @1 qe fomar §1
oy T S el o @ R e w7 \D
(A) mmmﬁ%ﬁrt. ‘ (B) FmazmwhE U
(©) e g g B D) wéRwmwhiy 0
()  srafea wem 03
31en D 40 _ PTO.
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g5  Match List Iwith List II

.

s

(s
List L0y List IT @
a.  Bird Roat Delta i.  Mackenzie U
b.  Estuarji® Delta ii. Mississippi e
c. Triple@elta iii. ~Mahanadi delta ¢,
d.  Arcuate Delta iv.  Nile Delta
Choose the correct answer from the options given below :
(A) &, bei, c-iv, d-iii (B) a-ii, b-i, c-iii, d-iv
(C) a-ii, ﬁi, c-i, d-ii (D) a-iv, b-ii, c-ii, d-iE
(E) Question not attempted
T o Pt R ‘6
w1 Ut w11 L
2 g T S
b, T e T &3
c. TumIw il W EwR
d.  omRuE T v, W e
At R i Rt & & ey e 2 e AT i
(A)  a-i, blitde-iv, d-iii | (B)  a-ii, b-i, c-iii; d-ivl}
(C) a-iii, bV, c-i, d-ii (D)  a-iv, b-iii, c-ii, d-i gy
(E) wigafd s peber+ ygetd e o | n
G0 . %

86 Consider ﬂmalluwing statements: CIE e+ 5
Statement I : The ancient Buddha (Bauddh) Stupa is situated on the west side of Brahmasarovar.

Statement IT:  The mound is spread over.an area of approx. three acres. The height of the mound
is about 4 m from the surrounding ground level.

In the lightg‘zthe above statements, choose the correct answer from m&g:%pﬁom given below:
(A) Both ﬁ%:ement-l and Statement-II are correct and Statement-II id.ifie correct explanation for
State t-1

(B) BothSBtement-I and Smtement_-ﬂ are correct but Statement-II isfriat the correct explanation

for Stafément-I . ;

-(C) Staterfiént-I is correct but Statement-11 is incorrect. %
(D) Statement-I is incorrect but Statement-II is correct. :
(E) Question not attempted
Prerfirfian et v e B |
B e /Y A B ik fan § Rew ¥ fh

He 11 : AT A T ¥ S gon 1 Tids o @ v W R Ty 4 m A S v
TR UG A F e g, A R g Rt ¥ § T v @ T DR

(A) ﬁﬁfaﬁﬁ-lGﬂrmﬂa-ﬂﬂé’liamzﬁm-umﬂﬁmﬁmﬁl LA

(B) i BH-1 ot sperr-IT il & it pu-11 -1 7w wdiecor k)

(©) o1 ¥ At =11 e £ oo

(D) &ua-17em ¥ st wua-11wd &

(E) ogufa v

31en D 41 P.T.O.
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87  Consider the following pairs :
1. BHARAT: Agri Infra Fund
2. Longpi pottery: Chhattisgarh
3. Sulur Bamboo Wind Flute: Manipur

How many of the above pairs are correctly matched? '
(A)  Only one pair (B) Only two pairs
(C) Al three pairs D)  None of the pairs

(E) Question not attempted

Frefafas gt T R i

1. W@ (BHARAT) : wift g1 %z

2. i g : s

3. g'g"{ﬁﬂ(Bambno)ﬁgqﬁz:trhgt

S g A & foee g wlt g E 2
(A) Fawus g (B) Hawmargw
(C) =it &l g (D) 37" & ®rd o g 7S
(E) o1gaia wee
88  Consider the following statements relating to free coaching scheme under the umbrella scheme
‘SHREYAS’:
1. It provides coaching of good quality for economically disadvantaged SCs, OBCs and
Minorities. il '

2.  The ceiling of total family income under the scheme is Rs 8 Lakhs per annum.

3.  The ratio of SC and OBC students is 7030 and'30 percent seats are reserved for females in
© each category. ' R =

4. The ratio of SCs, OBCs and minority students have been fixed at 50 - 30 - 20.

How many of the statements given above are correct?

(A) 1,2and 3 only ' (B) 1,27and 4 only

(C) 2and3 only . (D) 2 and4 only

(E) Question not attempted ' .

‘SmEYAS’mﬁmﬁwﬁmgw%ﬁwﬁmﬁwﬁmw“hﬂnﬁﬁm

1 ﬁmﬁﬁﬁqﬁﬁ&mmﬁl,ﬁﬁrﬁaﬁmaﬁaﬂﬁmﬁrﬁﬁmmm%fmh

2. AV & e 9RET B P o @) wera i whed 5. 8 @ b

3. qafﬁaﬁraﬁ‘é‘rﬁﬁmﬁh‘rﬁreﬂmﬁm:Sﬂ%aﬁwﬁaﬁﬁm%ﬁiq&mﬁﬁsfﬁqm%t

4. wad ﬁﬁﬁmmﬂmﬁﬁmﬁjﬁwaﬁmiﬂ 130 : 20 % w7 ¥ fraifia frar &

e Te Sutte wuet A & et e ad ¥ 2
(A) Faer 1,2 a3 (B) %mm 1,24
(C) &aw 2 st 3 (D) %Faw 2 ot 4
(E) &qafta wem
3l D 42 P.T.0.
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89 Consider the following statements:

90

1. The finest and the best preserved Baoli in Haryana is in Meham.

2. The coin moulds of the later Youdheyas of the third-fourth centuriesA.D. have been found in
large numbers from Rohtak.

3. Amjmage of Kartikeya sitting in lalitasana on a peacock has been discovered from Khokrakot.
How n{ggy of the statements given above is/ are correct?

(A) one statement is correct. (B) Only th&statements are correct.
©) three satatements are correct. (D) None ofithe statements is correct.
(E) ion not attempted

wnwmz 00
i ¥ Yl ol v i e Aw A B ¢
2. el sl €. % aw % Al ¥ Rl % 6 teow & orfts g T )
3. X wHieraTEE ¥ 4% wiieg @ qff 9 g dwme § @ @

o w6 A R me R R o
9T T HUT W B . (B) e dikwEe w ¥
'ch‘ﬁﬂiﬂ?ﬁﬁ%l (D) @i o & wh B

L
oo

Cansrmﬂle following Statements: w
Arrange the following intangible cultural heritages in order of their year of induction into the
UNESCO heritage list (Oldest to Newest):
1.  Kalbelia
2. Budhist Chanting
3. @mila
4. bh Mela T
5. WTIOUZ R
Choo e correct option from the following:
(&) 31, 2.5,4 0 ' (B) 1,3,2
(C) 3,4,521 (D) 12,1,3
(E) Question not attempted LH
Prerffige wea vt R S X

ﬁwﬁf&ﬁwmmaﬁ@mmmmﬁﬂm@h&m%uﬁﬁﬂ{arﬁﬁ'ﬂ}

28S6EY

> ]

- .:"“‘

?

g8G6

(B) 1,3,215:4
(D) 2,1,304)5
WO

i

0, ‘I : "
31y D @O - 43 o0 P.T.0.
{0

oo
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92

Given below are two statements:

Statement I : The Virupaksha temple was built in the sixteenth century. ; z

Statement Il : The pavilion in front of the Virupaksha temple was built during Thie T of
Krishnadev Rai.

In the light of the above statements, choose the correct answer from the options given belay:

(A) Both Statement I and Statement II are true.

(B) Both Statement I and Statement II are false.

(C) Statement I is correct but Statement II is false.

(D) Statement I is incorrect but Statement II is true.

(E) Question not attempted

e 3 Hyw Ry o

FAI : faEwm AR @& Pt drewdl sard & gor an

TR Il : Freame R & e = deg @1 Pmfor gere wa & awg F gor o

SO HY BT S 7 TEd g, M R e et F @ 98wt @ 997 S

(A) wHlsiRsw Ia=igde ~

(B) @u 1 30T waa 11 91 o ¥

(C) a1 15 & wftes o 11 7o ¥

- (D) o979 I7eia & wfte sa 188 &)

(E) orgaia v

Given below are two statements:

Statement I : Bhakii saint Shankardev addressed ‘Vaishnav Dharma’ as ‘Bhagwati Dharma’.
Statement I : Shankardev's main composition is Kirtanaghosh.

In the light of the above statements, choose the correct answer from the options given below:
(A) Both Statement I and Statement II are true.

(B) Both Statement I and Statement II are false.

(C) Statement I is correct but Statement 11 is false.

(D) Statement I is incorrect but Statement II is true.

"(E) Question not attempted

'—ﬁ%a‘lmﬁqwf:

FFI ;=R g9 S Y Yoy ol @) wrad) v et seit R

FEI : 9ieRd @ THE T Bra ¥ |

ST B B oA A T g, A R g Rt ¥ & w8 SR a1 g @i

(A) ®ua 1 3w 11 357 98 ¥

(B) @97 1 ot & 11 99 e ¥

(C) == 1981 & ofte %5ee 11 e B

(D) e | e & o e adt 2 ' i

(E) ergafta we :

31 {m}_D 44 . PT 0
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93 Consider the following pairs :
1. CREST: Hosakote .
2. Solar Observatory: Kodaikanal
3.  Radio Observatory: Gauribidanur
How many of the above pairs are correctly matched?
(A) Only one pair (B) Only two pairs

(C) All three pairs (D) None of the pairs
(E) Question not attempted

1.  #®& (CREST) : dmr: (Hosakote)
2. HR A9 : PreTgEw (Kodaikanal)
3. X Jusmen : WREER (Gauribidanur)
S ¥ & v g v g 7
(A) %o O g ; (B) ¥=w s gm
(©) e &if g D) THIFEAgHTH (E) ogaRa v
94  Consider the following pairs: : Y B0
1. Intelligent Waterbody Management Project : Tamara -
2. AMRUT 2.0 : Preserving surface and ground water bodies
3. PLASHBOT : Diffuser Aerators for bottom of water bodies
How many of the above pairs are correctly matched?
(A) Only one pair (B)
(C) All three pairs
(E) Question not attempted
Pr=foiaa g at foam Hife:
1. ﬁﬁ-ﬁﬂ%amﬁﬁﬁﬁmﬁ’zvhﬁa;:_m{Tmm)
2. ouEd 2.0 : gdE ST o Fremr e gt
3. PLASHBOT : @2t sifsw & aa & o foams 9w

Only two pairs
(D) None of the pairs

S gt F J feert g7 wé g & 7
(A) %aa o&m g™ s (B) e a1 g™ |
© wHEHFH, 00, (D) FHIME KR (B) omuia v

95  Consider the following pairs :
1.  Advika : Chickpea
2. Panchamrit : India’s Climate Action Plan

3. Mission Life : Life Style in harmony with ecological well-being
How many of the above pairs are correctly matched?

(A) Only one pair (B)  Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted

frreforfaa gmar wt feramt @ifn

1.  sifi (Advika) : R
2.  duma (Panchamrit) : 9T(d &1 eM3HE TE9H W
3. fiem LiFE : wiitferfes seamr & arg el o sl e

Sura gt # & fepeet g wé gafea ¥ 7
(A) ﬂg:lqﬁgrq (B) %aw a1 g™ . -
(©) & & gy (D) THAAE Mgw=d () orgala s

31 ey D 45 IF'.T,D.
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96 Match List I with List II: List II

List I . Munis Al Akhaah
a Abul Hasan al Hujwiri 1 Fawaid Al Fuad e
b.  Kuli Khan :“ Kashf ul Mahjub {1}
c.  Jahanafé . Murakka-E-Delhi @w
d.  Ameeitfihssan Sijji Dehlavi iv. g
I ﬁmﬁ!ﬂ 11 & &ifoTg: _
1 GGl 11 10
= o i g o e
c.  oEl e {ii., 9% I AEIT s
d ot el Rt e v E@"ﬁﬁ“ g
Choose the clfﬂ'ect answer from th_r:: options given below:. ”1
4 g gt 1 & ey e o e B B 00
(A) a-ii, bily c-iv, d-i (B) i e AT - o0
(C) a-ii, bify c-i, d-iv - (D)- a-iii, b-1v, &1, d-11
(E) Question not attempted / STt g%
P S
97  Match List BRith List II: | | ")
List W ' List II L ©
a  Dimup; . i.,  Sindh Area s
b. Mak ii. Mesopotamian Purm
c. Mel% 3 I jiii. Bahrainlsland OO
d. iv. Makran Coast (Balochistan)
o L& ﬁﬁﬁ g 04 ahﬁrq
AT ' T 11 5
a. faga m I i. Ry et m
L L . i, wEtm Ay 0
L e T (e
Choose the correct answer from the options given below:
e forg g et ¥ & @ TR @ T
(A) a-ii, b-iii, c-iv, d-i o sl
(C) aii, bﬁi c-i, d-iv - B) aeiv bef, cedii, deii S
] @) o beiv, oof. i)
(E)  Questign not attempted / R ERlEG we 1, d-ij ¥
{51 i
31 ey D gg_i 46 | m
9.3
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98 Consider the following pairs: .

1.  Aram-i-Kausar : Narnaul 2. Tomb of Sheikh Tayyab : Kaithal

3. Bhai ki Baoli : Meham(Rohtak) ;

How many of the above pairs are correctly matched? ,

(A) Only one pair (B) Only two pairs =

(C) All three pairs | (D) None of the pairs ,

(E) Question not attempted

freftitae gt wt R i . : .

1. SOH-U-HER : AT 2. 9@ daw @ weiy  Hae '

3. T 3 9 : en(TeaE

I g N | ey g gl g ¥ 7

(A) %@ OB gm (B) & 31 g

(C) =ft i g D) FHABE g8 (B) omaiaus
99  Consider the following statements about Bhumia or Khera:

. Itis the god of the homestead or the village.

II.  Bhumia is worshipped at the time of marriage.

M. First milk of cow or buffalo is always offered to Bhumia.

How many of the statements given above is/ are correct?

. (A) Only one statement is correct. (B), Only two statements are correct.
(C) All three statements are correct, (D) None of the statements is correct.
(E) Question not attempted
qiar a7 @S A § Frefafas weet o feam S
L 9% emws a1 g & 39 B
0. iy &t gor faare % @oa & ad &)

ML w75 o7 %% &1 wee g 599y &) gaffa R s 3
fiw T Ui weEl A A fhon wem T R Y
(A) aw UH HYF T B _ (B) haw & wyw g ¥
(C) =+ o ®aT wé ) (D) wE N F gl Tt (E)  ogwia 5
100 Match List I and List II:

List1 List II
a.  Ghethi i Milking animal
b.  Laggar ii.  Outer house
c. Basan ili. Neck
d. Nohra iv.  Pitcher
Select the correct option from the following given options:
(A)  a-i, b-ii, c-iii, d-iv (B) a-iii, b-i, c-iv, d-ii
(C)  a-iv, b-i, c-iii, d-ii (D)  a-ii, b-ii, c-iv, d-i
(E) Question not attempted
T Lo gt 11 § frerr @i

T 1 . w1
a. 3 (Ghethi) i g ey
b.  @r (Laggar) i, gt
c. 9@ (Basan) ifi. T
d.  +®Ew (Nohra) iv. e
e e T el & § @€ wEe & wEe S RS T R
(A) 2, beii, c-iii, d-iv (B) aiii, b, c-iv, d-ii
(©)  a-iv, b, c-iii, d-ii (D) a-ii, b-ii, c-iv, d-i
(E)  rgeiea wem

3 5. D 47 t PT.O,
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